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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 301 360 396 756
EARI1TH 1,032 1,157 1,263 2,420
EARI2TH 1,199 1,021 1,383 2,404
A R T 2,315 2,349 2,597 4,946
BERT1TH 572 574 617 1,191
B ERT2TH 410 416 452 868
B ERI3TH 322 368 324 692
BEBRT4TH 533 490 530 1,020
B ERSTH 824 894 903 1,797
I ER6TH 373 396 422 818
HiF = HT 545 588 637 1,225
45 KHT 487 558 582 1,140
HHT 1,011 1,107 1,224 2,331
BEHT 49 51 57 108
A K BT 624 713 733 1,446
7 HT 430 436 454 890
RICET 457 487 526 1,013
FORHET 199 192 225 417
RFHT 208 207 236 443
KHET 357 333 371 704
KET1TH 239 240 285 525
XKET3TH 290 342 328 670
XETATH 878 821 1,006 1,827
fit] LLI BT 2,434 2,781 2,898 5,679
JE LT 979 1,101 1,208 2,309
EHERT2TH 308 444 443 887
EHERISTH 428 528 532 1,060
EHERT4TH 391 462 486 948
EHERSTH 343 395 468 863
EAEHET6TH 216 287 272 559
EAERET7TH 169 255 262 517
=Y:i 332 331 379 710
8 [F T 1,556 1,408 1,647 3,055
=i ET 515 555 634 1,189
2l 3t BT 483 581 563 1,144
N =15 101 111 122 233
+HEFRT A 641 650 720 1,370
L EFHTER 855 758 860 1,618
L HAET 1,999 2,187 2,254 4441
LFH¥ABT1TH 73 123 114 237
LH¥\ET2TH 160 161 178 339




HEZ HH 5 £ i
LFEI3TH 150 147 176 323
L¥AET4 T B 165 178 202 380
LFEISTH 218 271 303 574
I == HT 204 210 234 444
JOSFET1TH 552 527 539 1,066
JNsFET2T H 548 526 569 1,095
JO=fET3TH 418 430 415 845
M=rET4T H 1,103 1,091 1,115 2,206
I S5k T 581 596 656 1,252
I=F5di) 228 213 257 470
At B BT 30 37 39 76
E[d:) 404 357 342 699
fHZaE T 831 948 1,001 1,949
FHRHET 79 83 95 178
1 2 FF T 332 380 405 785
BEFE1TH 93 115 128 243
BEFE2TH 278 319 332 651
T EHT 128 141 140 281
/N BB T 3,096 3,104 3,312 6,416
1R HT 260 286 309 595
YEZF HT 747 738 791 1,529
EXBI1TH 277 256 282 538
=/ LLIHT 217 161 125 286
Hh ek HT 20 21 4 25
T A EHET 11 16 12 28
THHEE1TH 732 667 706 1,373
THHEE2TH 530 557 551 1,108
THHEESTH 847 873 990 1,863
TEHE1TH 182 180 176 356
TEHRI2TH 801 750 858 1,608
TEHRISTH 166 178 191 369
TEHRI4ATH 96 105 115 220
TEHRISTH 212 232 238 470
T HAET 578 609 648 1,257
THET1TH 360 352 367 719
THET2 T H 461 426 486 912
TH¥BISTH 203 198 228 426
THABTATH 156 154 181 335
TET5TH 150 172 195 367
HAHT 17 15 8 23
T 186 197 186 383
#8)11 BT 46 47 53 100
KT HT 295 316 340 656
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HEZ HH 5 £ i

7B KHT 1,665 1,656 1,821 3,477
&)1 HT 264 320 309 629
XLAT1TH 842 752 908 1,660
X#ILET2TH 312 342 365 707
X#ILET3TH 151 154 168 322
1 [ BT 47 64 75 139
hHET1TH 377 406 406 812
hHET2TH 458 473 515 988
hHBEI3TH 453 525 516 1,041
aiEld:) 248 231 279 510
th 2 JEHT 214 208 224 432
ch T 131 127 163 290
TR AHT 775 867 875 1,742
At FAET 879 879 1,015 1,894
75 K ERET 778 958 1,000 1,958
75 2 [N HET 1,669 1,823 1,962 3,785
JAHT 805 775 866 1,641
$FHET1TH 524 460 517 977
$FHET2T H 402 398 435 833
¥FHETST B 197 201 226 427
T 167 213 217 430
HET1 T B 392 484 513 997
HET2 T B 350 365 402 767
HET3 T B 359 394 445 839
HET4 T B 125 120 153 273
AN ) 979 1,058 1,110 2,168
J\ EHHT 159 198 191 389
T 4 BT 247 284 315 599
T A HT 1,587 1,605 1,768 3,373
THB1TH 23 21 21 42
T4HB2TH 1,459 1,355 1,352 2,707
T4HBI3TH 188 170 165 335
T4RBI4TH 374 312 372 684
T4RB5TH 937 656 928 1,584
T4HBI6TH 608 582 635 1,217
THRI7TH 349 375 413 788
T4HBISTH 378 400 419 819
THRBOTH 404 458 514 972
THB12TH 237 265 260 525
T+4R13TH 315 349 392 741
AR NBHT 1,932 1,681 1,959 3,640
HARRHET 1,345 1,218 1,203 2,421
H AR KR ET 292 369 380 749
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HEZ HH 5 = 5
E AR ERT 168 173 181 354
- WNEL] 137 123 140 263
FH AR hHT 202 225 262 487
FHARAKHET 441 470 507 977
& AR ElT 323 345 377 722
EHARE)IIHET 289 269 301 570
=N ] 116 124 140 264
FH AR JTHT 102 98 111 209
EARERHE 668 578 659 1,237
B K R HET 392 395 407 802
Edai) 879 885 1,015 1,900
BEFET1TH 757 736 748 1,484
BEFET2TH 589 589 681 1,270
RIS TH 351 410 417 827
AIFTET1TH 421 378 422 800
AIFFRT2T B 595 609 676 1,285
AIFTET3T B 627 714 769 1,483
A HT 183 201 191 392
B LH 245 319 338 657
NEL] 792 767 830 1,597
ERL 759 942 927 1,869
= HHT 1,737 1,915 1,993 3,908
HETHRET1TH 585 631 677 1,308
HLIRET2TH 516 596 649 1,245
HLIREISTH 294 378 371 749
P fx T 319 359 395 754
mERI1TH 1,166 1,128 1,270 2,398
mERI2TH 838 950 1,057 2,007
FA T 1,359 1,389 1572 2,961
= RITET 531 497 551 1,048
= AHT 340 273 332 605
AR#4HT 7 5 4 9
) 495 556 514 1,070
SHET1TH 713 636 783 1,419
S HET2TH 408 442 471 913
aHEI3TH 837 720 883 1,603
S HET4TH 754 634 828 1,462
E& T 1 1 0 1
J\IRET1TH 205 255 263 518
J\BRET2T B 223 224 239 463
J\BRET3T H 241 299 304 603
1T HT 297 429 408 837
FHRIBRT1 T H 169 199 210 409
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HEZ HH 5 £ 5
FIEIET2 T B 302 433 460 893
FIEIBISTH 109 181 177 358
FEOER1TH 74 119 114 233
FENOER2TH 0 0 0 0
FENDERITH 19 17 2 19

wEE 88,598 | 91564 | 99,289 | 190,853
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